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(1] 00n0,00 mm 0000, m=m modn 00000000000,

m=m' modn €<% m—m'0DpnO000D000.

(1) 172a+53b=1000000 «,b0 10000.
(2) m=5mod17200 m=2mod53000000 mO 10000,

4DDDDD S?x 8?20 C*000 f:8?xS8?—ROOD0O0OO0O0O.

5% x 8% = {(x1, 22, 23,41, y2, y3) € R®; o] + 25 + 23 = yi + 5 +v3 = 1},

f(131,$2,$3ay1a92:y3) = (351 —Y1,T2 — Y2,T3 — y3)-
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C= {(1’1,$2,$3791ay2793) € 5% x 52; (5151,332,5133) = i(y1,y2,y3)}-

3| pccoono,f:D—COOO0O0D0DO0O0,p000000.0000,0000.

A(lfRF) = If P ?IF(2)1, 2z € {w € D; f(w) # 0}.
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2(t) — 42/ (t) + 5x(t) = 0.



